
Y4 – Autumn – Block 1 – Step 1 – Roman numerals Answers

Question Answer

1

2

a) VII                    d) LV                        g) XVII
b) XII                    e) LXXII                     h) XLI
c) XXIII                  f) LXXXIX                  i) XXVII

3 Eva lives at number 24

4

Jack’s total score is 7

Alex could have rolled a 1 and a 6 or a 3 and a 4 in any order.

5

a) 24             Twenty-four
b) 71              Seventy-one
c) 68             Sixty-eight
d) 96             Ninety-six
e) 28             Twenty-eight
f) 91              Ninety-one

6

a) XXVI
b) 13                         Thirteen
c) 70                         LXX
d) Forty-eight            XLVIII

7

a) LXII
b) LXXI
c) XXVII
d) LXXIV
e) LVIII
f) IV
g) LXXXVII

8
Various answers possible.
E.g. XXIX + XLI = LXI + IX


